M4x0.7 THRU
+
| =I= 4
| =t
— - o
@) | ™
o ! ™
g |T IS
22.00 Y
M4x0.7 THRU
44.00
2 Xx M4x0.7  10.00
M4x0.7 THRU ~
(@)
Q & Jan fl\
S D S a ¢
N N~
T T
o o
o S
3} ™
S8 (S
6061 Allo Black Annodized  swmor
y Deburred THE PULSAR ENGINEERING
All di(;‘nefrtlsionsrfare g{ivertl in rr;m TITLE:
IS0 2768 mK CAMERA BRACKET

DWG NO.

Break sharp edges & deburr # 2020—0 ] / ] Al

min 0.2 - max 0.5
SCALET] SHEET 1 OF 1

4 3 2 1



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


